Test: 2018 Primary 2 - Term 3 (CA2) Math (Rosyth)
Points: 40 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 19 Primary 2 Math (Term 3) 2 pts

SECTION A (6 x 2 marks)

Choose the correct answer.

4 threes =

A) 7
B) 12
C) 43
D) 4



Question 2 of 19

What fraction of the figure shown below is shaded?
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Question 3 of 19

2/4
2/6
4/6
6/6

24 +3=

A)
B)
C)
D)
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Primary 2 Math (Term 3)

2 pts

2 pts



Question 4 of 19 Primary 2 Math (Term 3) 2 pts

Ali mixed 5l of water and another 2| of syrup to make a drink. How many litres of drink did he
make?

=

5{ 2f ?

A) 5l
B) 2
C) 3l
D) 7i

Question 5 of 19 Primary 2 Math (Term 3) 2 pts

The mass of the tin of cookies is g.

A) 105
B) 110
C) 115
D) 150



Question 6 of 19 Primary 2 Math (Term 3) 2 pts

The mass of the toy car is g.

20g | 399
1009
s P T |

A) 20

B) 30

C) 100
D) 130

Question 7 of 19 Primary 2 Math (Term 3) 2 pts

SECTION B (8 x 2 marks)

Read the questions carefully.

9 groups of 4 =



Question 8 of 19

Choose the figure that is 1/3 shaded.

A) A
B) B
C) C

Question 9 of 19

Find the sum of 367 and 422.

Question 10 of 19

2/5 and make 1 whole.
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Primary 2 Math (Term 3) 2 pts

Primary 2 Math (Term 3) 2 pts



Question 11 of 19

Choose the cup that has a larger volume of water.

Cup A

A) CupA
B) CupB

Question 12 of 19

Jayne had 76 stickers.
She gave 48 stickers to her sister.
How many stickers did she have left?

Question 13 of 19

A

CupB

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Box is heavier than Box

A) Box A is heavier than Box B.
B) Box B is heavier than Box A.

2 pts

2 pts

2 pts



Question 14 of 19
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n

Primary 2 Math (Term 3) 2 pts

*=J

1 pot can fill

Question 15 of 19

SECTION C (3 x 4 marks)
Read the questions carefully.

Nancy baked 28 cupcakes.
She packed them equally into 4 boxes.

a) How many cupcakes were there in each box?

fully.

Primary 2 Math (Term 3) 2 pts



Question 16 of 19 Primary 2 Math (Term 3)

Nancy baked 28 cupcakes.
She packed them equally into 4 boxes.

b) How many cupcakes were there in 3 boxes?

Question 17 of 19 Primary 2 Math (Term 3)

The total mass of a stapler and a pencil box is 600g.
The stapler is 260g.

a) What is the mass of the pencil box?

Question 18 of 19 Primary 2 Math (Term 3)

The total mass of a stapler and a pencil box is 600g.
The stapler is 260g.

b) What is the difference in mass between the pencil box and stapler?

Question 19 of 19 Primary 2 Math (Term 3)

Andrew had some marbles at first.

He bought 35 marbles.

He then gave 110 marbles to his friend.
He had 145 marbles left.

How many marbles did he have at first?

2 pts

2 pts

2 pts

4 pts



